Government of Jammu and Kashmir OFFICE OF THE SUPERINTENDING ENGINEER. JAL SHAKTI DEPARTMENT HYDRAULIC CIRCLE DISTRICT BLA/BPR H.Q SOPORE Member Secretary District Jal Jeevan Mission Baramulla/Bandipora

Email:sehydbla@gmail.com

M. S.- Mr. Faroog Ahmad Magray S c - Ghulam Mohammad Magray A c:- Druree Tangmarg GST No:- 01AHVPM4816A1ZM Regd No: SE/HYD/Sgr/AAY/Class-230/Civil of 2004-05. Advertised Amount: ₹170.00 lac Allotted Amount:- ₹1,73,82,513.00 Major Head:-4215-JJM Time of completion: 90days

# ORDER No: 05/SE/HYD/SPR/JJM of 2022-23]

### Dated: - 23-1/-2022

#### Subject: Fixation of Contract for:

Retrofitting of WSS Druroo Pandithpora by way of laying Raw Water Main, Supply Main, Sub main & distribution system at various spots including Construction of chain link fencing around various structures construction of Sluice Chamber revamping of SSFP, Constriction of Saddle Blocks/supporting under JJM. , repair/renovation to existing Chowkidar Quarter pillars to RWM (Tender ID: 2022\_PHE\_174991\_2)

#### Reference:

- Executive Engineer FBI Division Tangmarg's e-NIT No 27 of 2022-23 dated: 20-06-2022 issued under 1 endorsement No: FBID/CC/2220-31 dated 20-06-2022.
- Revised District Action Plan of District Baramulla approved by DJJM vide no: DDCB/3929 dated: 30-07-2022.
- Minutes of Meeting held with District Development Commissioner Baramulla (Chairperson DDJM) on 23/5/2022 3 minutes issued vide letter No DDCB/Meeting/2022/1214-44 Dated: 24/5/2022 and No DDCB/2022/ 1248-70 Dated: 26/5/2022 thereafter vide letter No. DDCB/ 2022/1725-28 Dated 04/06/2022.
- 4. Administrative Approval Accorded by Chief Engineer Jal Shakti (PHE) Department Kashmir vide Order No: CE/PHE/DB/JJM/257 of 09-2022 Dated: - 05-09-2022.
- 5. Technical Sanction issued by Chief Engineer Jal Shakti (PHE) Department Kashmir's Order No:- CE/PHE/DB/474 of 09/2022 Dated: 08-09-2022.
- Minutes of Meeting of District Contract Committee circulated vide No: SE/Hyd/JJM/3570-82 dated: 30-06-2022. 6
- 7. Amendment in operational guidelines for the implementation of Jal Jeevan Mission issued by NJJM, DDW&S ministry of Jal Shakti GOI vide F. No W-11016/10/2022-JJM-IV-DDWS Dated:- 21-06-2022.
- 8. Modus operandi communicated by Chief Engineer PHE Kashmir Vide circular No CE/PHE/MC/DB/13745-83 Dated - 26-07-2022.
- 9. Your letter of acceptance No:- 467/FA dated:28/07/2022.

#### Dear Sir.

For and on behalf of Lieutenant Governor of Union Territory of Jammu and Kashmir, the contract for above subject work is hereby fixed on the rates quoted and subsequently negotiated and accepted by you on Percentage rate basis as per the Annexure "A" of this allotment order with standard terms and conditions as laid down in the Annexure "B" of this allotment Order. The total cost of work shall be ₹1,73,82,513.00 (Rupees One Crore Seventy Three Lacs Eighty Two Thousands and Five Hundred Thirteen Only)

No:- SE/HYD/JJM/ 10688-10702 Superintending Enginee Dated:-13 /1 /2022 Hydraulic Cincle Baramulla/Bandipora

#### Copy to the:-

- 1. Chief Engineer Kmr. Jal Shakti (PHE) Department Srinagar for favour information.
- 2. District Development Commissioner Baramulla (Chairperson DJJM) for favour of information
- 3. Additional District Development Commissioner Baramulla (Member DJJM) for information.
- 4. Assistant Commissioner Development Baramulla (Member DJJM) for information.
- 5. Divisional Forest officer Baramulla (Member DJJM) for information.
- 6. Chief Planning Officer Baramulla (Member DJJM) for information.
- 7 Chief Medical Officer Baramulla (Member DJJM) for information.
- 8 Chief Educational Officer Baramulla (Member DJJM) for information.
- 9 District Social Welfare Officer Baramulla/District Tribal Welfare Officer Baramulla (Member DJJM) for information.
- District Information officer Baramulla (Member DJJM) for information.
- 11. Executive Engineer FBI Division Tangmarg (Member DJJM) for information and necessary action
- 12. Executive Engineer Jal Shakti PHE Mech Division North Sopore (Member DJJM) for information.

. 111

- 13. Executive Engineer Ground Water Division Stinagar (Member DJJM) for information.
- 14. WAPCOS Limited Baramulla for information and necessary action.
- 15. File Concerned

Retrofitting of WSS Druroo Pandithpora by way of laying Raw Water Main, Supply Main, Sub main & distribution system at various spots including Construction of chain link fencing around various structures construction of System at various of SSFP, Construction of Saddle Blocks/supporting pillars to RWM, repair/renovation

o exist	tiong Chowikdar Quarter under JJM Item Description	Units	Quantity	Alloted Rates	Amount
No.	Dismantling G.L pipes (external work) including excavation and refilling trenches after taking out the pipes, manually/by mechanical means including stacking of pipes within 50 meters lead as per direction of Engineer-in-charge :	RM	3500	101.99	₹ 3,56,980.31
	15mm - 40 mm nominal bore	RM	900	113.14	₹ 1,01,825.66
1.01	Above 40 mm nominal bore	K)4			
2	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: All kinds of soil	Cum	7797.87	445.81	₹ 34,76,368.42 ₹ 19,21,231.44
2.01	Ordinary rock /	Cum	1941.37	989.63	
	Laying in position centrifugally cast (spun) iron S&S or	Otl	1595.05	251.07	₹ 4,00,476.98
3	flanged pipes (excluding cost of pipe) Providing push-on-joints to Centrifugally (Spun) Cast iron Pipes or Ductile iron Pipes including testing of joints and including the cost of rubber gasket:	Joint	91	217.79	₹ 19,819.12
	200 mm dia DI	Joint	528	147.96	₹ 78,120.64
4.01	150 mm dia DI	Joint	727	91.72	₹66,679.17
4.02 5	100 mm dia Dl Laying and fitting of G.I. pipes (all classes) complete incluidng cost of pipe specials but excluding cost of pipes/ Earth work . 100 mm dia Gl		150	110.12	₹ 16,518.49
5.01	80 mm dia Gl	RM	3500	74.69	₹2,61,427.69
5.02	65 mm dia Gl	RM	1500	74.69	₹ 1,12,040.44
5:02	50 mm dia Gl	RM	3500	41.72	₹ 1,46,013.00
5.04	40 mm dia Gl	RM	6000	41.72	₹ 2,50,308.00
5.05	25 mm dia Gl	RM	5500	31.34	₹ 1,72,367.94
5.06	20 mm dia Gl	RM	4500	20.71	₹93,175.31
5.07	15 mm dia GI	RM	4000	20.71	₹ 82,822.50
6	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete 25 mm - 40 mm	No.	120	681.24	₹ 81,748.88
6.01	50 mm - 80 mm	No.	35	1297.30	₹ 45,405.39
7	Providing and fixing of MS Flanged joints (12mm Thick) to double flanged CI/DI pipes Incl. cutting of pipes welding charges cutting of flanged rubber gaskets bolts nuts including testing of joint and sort of carriages Complete Job. 80 mm dia GI	g	510	1124.75	₹ 5,73,622.50
7.01	65 mm dia Gl	Joint	150	1022.50	₹ 1,53,375.00
7.02	50 mm dia Gl	Joint	180	818.00	₹ 1,47,240.00
8	Welding charges of leakage spots/sockets /tees/bends for G pipes including carriage of welding machine and DG Set upto site of work including steel strips complete job including eart work in excavation and refilling of trenches complete job 50-100 mm Dia Gl	0	120	511.25	₹ 61,350.00
9	Providing and fixing of MS fittings viz bends of suitable degree, tees,collars etc to be fabricated from 6mm nomina size MS plate as per the requirement of site with an corrosive red oxide primer complete job	al Ke	1000	151.15	₹ 1,51,145.9
10	Filling available excavated earth (excluding rock) in trenche plinth, sides of foundations etc. in layers not exceeding 20 cr in depth, consolidating each deposited layer by ramming an watering lead upto 50 m and lift upto 1.5 m.	m	8634.38	203.17	₹ 17,54,253.4

102 Head Draftsman

F Superintending Engineer

Technical Officer

ctrofitting of WSS Druroo Pandithpora by way of laying Raw Water Main, Supply Main, Sub main & distribution ystem at various spots including Construction of chain link fencing around various structures construction of Sluice Chamber revapming of SSFP, Construction of Saddle Blocks/supporting pillars to RWM, repair/renovation to existions Chawikdar Quarter under JJM

S.	kistiong Chowikdar Quarter under JJM	Unite	Quantity	Alloted	Amount
No	Item Description	Units	Quantity	Rates	
11	Providing and laying hand packed stone soiling 50 mm nominal size including filling spreading dressing ramming a leads lifts including all carriages complete job	n D Cum	33.64	1349.70	₹ 45,403.91
12	Providing and laying in position cement concrete of specifie grade including curing but excluding the cost of centring an shuttering. All work upto plinth level with: 1:4:8 (1 cement : coarse sand : 8 graded stone aggregate 40 mm nominal size)	d Cum	12.47	4971.23	₹ 61,991.26
13	Providing and laying in position cement concrete of specifier grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with:1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	1 Cum	90.25	6610.67	₹ 5,96,612.70
14	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level 1:1½:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate 20 mm nominal size)	f Cum	28.77	7976.28	₹ 2,29,477.49
15	Reinforced cement concrete work in walls (any thickness) including attached pilasters, buttresses, plinth and string courses, fillets, columns, pillars, piers, abutments, posts and struts upto floor five level including curing but excluding cost of centering shuttering, finishing and reinforcement. 1:1½:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate 20 mm nominal size)	Cum	60.38	9619.82	₹ 5,80,844.92
16	Reinforced cement concrete work in beams, suspended floors, roofs having slope upto 15°, landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases upto five level including curing but excluding the cost of centring, shuttering, finishing and reinforcement with 1:1½:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate 20 mm nominal size)	Cum	19.89 *	10070.96	₹ 2,00,311.40
.7	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	Cum	4.78	7135.69	₹ 34,108.60
8	Centering and shuttering including strutting, propping etc. and removal of form forFoundations, footings, bases of columns etc. for mass concrete	Sqm	411.77	268.20	₹ 1,10,437.43
.01	Walls (any thickness) including attached pilasters, buttresses, plinth and string courses etc	Sqm	301.88	586.76	₹ 1,77,131.60
02	Suspended floors, roofs, landings, balconies and access platforms.	Sqm	136.02	649.90	₹ 88,399.53
03	Extra for additional Height in walls over 3.5 mtr height (Avg. 5 Lifts)	Sqm	147.08	117.28	₹ 17,249.65
04	Edge of slabs.	Rm	88.4	129.92	₹ 11,484.83
9	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete above plinth level	Kg	8854.38	93.18	₹ 8,25,054.89
	Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	Кg	2929.43	97.72	₹ 2 <b>,86,2</b> 64.85
, †	12 mm thick cement plaster in 1:3 mix (1 cement : 3 fine sand)	Sqm	805.48	351.23	\$ 2,82,907.73
1	12 mm thick cement plaster in 1:3 mix ( 1 cement : 3 fine	Sqm Sqm	805.48 54.12	351.23 265.90	₹ 2,82,907.73 ₹ 14,390.57







01.	ing Chowikdar Quarter under JIM		1	Alloted	Amount
	Item Description	Units	Quantity	Rates	Amount
	Brick work with common burnt clay (non-modular) bricks of class designation 7.5 in foundation and plinth including curing in Coment mortar 1:6 (1 cement ; 6 coarse sand).	Cum	15.13	6322.88	₹ 95,665.24
25	Extra for brick work with common burnt clay bricks/cement concrete bricks in superstructure above plinth level upto floor five level.	Cum	15.13	1353.43	₹ 20,477.43
26	Dismantling old plaster or skirting, raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meters lead	Sqm	164.78	36.15	₹ 5,956.03
27	Disilting of SR/Plant bed including taking out from premises, washing of SR bed and walls, disposing of the silt to nearby dumping site including all sorts of carriage Complete.	Cum	15.4	460.13	₹ 7,085.93
28	Dismantling roofing including ridges, hips valleys and gutters etc., and stacking the material within 50 meters lead of : G.S. Sheet	Sqm	300	102.25	₹ 30,675.00
29	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia and length (hold fast lugs or with dash fasteners shall be paid for separately): 2nd class kail Wood	Cum	2.67	94136.82	₹ 2,51,345.31
30	Providing and fixing panelled or panelled and glazed shutters for doors, windows and clerestory windows fixing with butt hinges of required size with necessary screws, excluding panelling which will be paid for separately, all complete as per direction of Engineer-in-charge. (Note: -Butt hinges and necessary screws shall be paid separately)35mm thick. 2nd class kail wood	Sqm	163.8	2807.73	₹ 4,59,906.81
1	Providing and fixing glazed shutters for doors, windows and clerestory windows using 4mm thick float glass panes including ISI marked M.S. pressed butt hinges bright finished of required size with necessary screws. 2nd class kail wood 35mm thick	Sqm	10.34	3413.16	₹ 35,292.03
2	Providing and fixing wire gauze shutters using galvanized M.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with ISI marked M.S. pressed butt hinges bright finished of required size with necessary screws as per direction of Engineer-in-charge : 2nd class kail wood 35mm thick	Sqm	10.34	3382.23	₹ 34,972.21
3	Providing 40x5 mm flat iron hold fast 40 cm long including fixing to frame with 10 mm diameter bolts, nuts and wooden plugs and embeddings in cement concrete block 30x10x15 cm 1:3.6 mix (1 cement : 3 coarse sand : 6 graded stone aggregate 20 mm nominal size).	No.	32	166.72	₹ 5,335.00
. 1	Providing and fixing aluminum tower bolts ISI marked anodized (anodic coating not less than grade AC 10 as per IS : 1868) transparent or dyed to required colour or shade with necessary screws etc. complete. (250 x 10mm)	No.	3	104.60	₹313.81
	P/F aluminium tower bolts 100x10mm	No.	26 13	65.34 55.47	₹ 1,698.78 ₹ 721.12

Head Draftsman



Superintending Engineer

Retrofit: WSS Druroo Pandithpora by way of laying Raw Water Main, Supply Main, Sub main & distribution mous spots including Construction of chain link fencing around various structures construction of ber revapming of SSFP, Constriuction of Saddle Blocks/supporting pillars to RWM , repair/renovation

Sluke.	Chowikdar Quarter under JJM	1		Alloted	Amount
	Item Description	Units	Quantity	Rates	Antonia
- 23	Providing corrugated G. S. sheet roofing including vertical/curved surface fixed with polymer coated J or L hooks, bolts and nuts 8mm diameter with bitumen and G4 limpet washers or with GL limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (upto any pitch in horizontal/vertical or curved surface) excluding the cost of purlins, raf (0.50 mm thick)	Sqm	112.62	848.93	₹ 95,606.57
39	Providing ridges or hips of width 60cm overall width plain G.S. sheets fixed with polymer coated J. or L hooks, bolts and nuts 8mm dia G.I. limpet and bitumen washers complete. 0.50 mm thick with zinc coating not less than 275 gram/m2			640.80	₹ 4,741.93
		RM	7.4	715.75	₹ 24,550.23
40	P/F of plain eves boarding 35mm thick in 250 mm vide Finishing with Epoxy paint (two or more coats) at all locations prepared and applied as per manufacturer's specifications including appropriate priming coat, preparation of surface, etc complete On steel	RM Sqm	182	193.05	₹ 35,134.74
	work.	Cam	150.33	187.58	\$ 28,198.54
41.01	Concrete Work Making plinth protection 50mm thick of cement concrete 1:3:6 (1 cement : 3 coarse sand : 6 graded stone aggregate 20 mm nominal size) over 75mm bed of dry brick ballast 40mm nominal size well rammed and consolidated and grouted with fine sand including finishing the top smooth and curing	Sqm Sqm	24.75	507.82	₹ 12,568.66
43	complete Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc including priming coat with approved steel primer all complete Fixed to openings / wooden frames with rawl plugs screws etc		300	202.34	₹ 60,702.76
44	Providing and laying Ceramic glazed floor tiles 300x300 mm (thickness to be specified by the manufacturers) of 1st quality conforming to 1S: 15622 of approved make, laid on 20 mm thick bed of cement mortar 1: 4 (1 cement : 4 coarse sand) including pointing the joints with white cement and matching pigment etc., complete. In all colours, shades, except White, Ivory, Fume Red Brown	Sqm	23.47	1140.91	₹26,777.05
45	Providing & fixing White vitreous china water closet squatting pan(Indian type) along with "S" or "P" trap including dismantling of old WC seat and "S" or "P" trap at site complete with all operations including all necessary materials, labour and disposal of dismantled material i/c malba, all complete as per the direction of Engineer-in charge. Orissa pattern W.C Pan of size 580x440 mm	No.	1	5112.50	₹ 5,112.50
46	P/F stainless steel kitchen sink including all necessary fittings	No.	1	9202.50	₹ 9,202.50
47	complete Job. Construction of brick masonary main hole in cement mortan 1:4 Mix of designated size as per requirment and directions of Engineer in charge		2	8266.20	₹ 16,532.39
48	P/F PVC soil waste and vent pipe 100/75mm	RM	50	230.06	₹11,503.13
49	P/F PTMT towel rail	No.	1	971.38	₹971.38
50	Providing and placing on terrace (at all floor levels polyethylene water storage tank ISI : 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank	1	500	11.50	₹5,751.56
	i i and the same support for mint		-	111000	
51	P/F of CP Brass Bibcock	No.	6	446.32	₹2,677.93
52	P/F of CP Brass Bibcock P/F of CP Brass angle value	No.	4	548.16	₹ 2,192.65
	P/F of CP Brass Bibcock	No.			

195 Head Draftsman

system Stater





Retrofitting of WSS Druroo Pandithpora by way of laying Raw Water Main, Supply Main, Sub main & distribution system at various spots including Construction of chain link fencing around various structures construction of Sluice Chamber revapming of SSFP, Constriuction of Saddle Blocks/supporting pillars to RWM, repair/renovation

	tiong Chowikdar Quarter under JJM Item Description	Units	Quantity	Alloted Rates	Amount
S. No.	F, F Heating points in 2.5 Sqm Multi brand PVC wire in	No.	3	1533.75	₹ 4,601.25
55	P,F Heating points in 2.5 squit Hunt		2	3578.75	₹ 7,157.50
30	condutes	No.	2	2556.25	₹ 5,112.50
20	F F of 1200mm sweep ceiling fans	No.		613.50	₹ 3,067.50
87	P. F of Exaust fans	No.	5 🐧	5623.75	₹ 5,623.75
58	P   F of 16-A MCB indo cap complete	No.	1	3023.70	
59 60	P/F of MCB Distribution box Dismantling wood work in frames, trusses, purlins and rafters upto 10meters span and 5 meters height including stacking the material within 50meters lead :0f sectional area 40 sqcm.	Cum	5	3240.05	₹ 16,200.23
61	and above P/F of MS lid cover made of angle iron fram 40x40x6mm and 5king with 5mm thick ms sheet including all locking	No.	5	3067.50	₹ 15,337.50
62	arrangments etc complete (size 1x1m) Taking wash out pipeline from SR bed including earth work excavation/ refilling/L/F/joints (Flanged joints)/welding/ etc		2	10225.00	₹ 20,450.00
63	complete job Cement concrete flooring 1:2:4 (1cement: 2 coarse sand: 4 graded stone aggregate) finished with a loating coat of neat cement including cement slurry and curing complete, but excluding the cost of nosing of steps etc. complete 50 mm thick with 20mm nominal size stone aggregate	Sqm	114.54	568.00	₹ 65,058.58
64	P/F of PGI sheets 0.63mm thick PGI Sheets at construction joints including all leads and lifts complete job as directed by	Sqm	18.38	818.00	₹ 15,034.84
65	Engineer Incharge Taking out filter media and laying of same after washing and grading and laying in layers of serviceable material		6.72	511.25	₹ 3,435.60
66	Supply and filling of filter media of approved source grave (Graded gravel size raging from 6mm to 65mm) in filter bed including all carriages complete job	Cum	5.6	7873.25	₹ 44,090.20
67	Providing fixing of approved brand ISI mark gun metal regulating valves including all carriage of work site complete. 100 mm Dia Gate Valve	No.	3	8180.00	₹ 24,540.00
		No.	5	2460.80	₹ 12,304.00
67.01		No.	5	720.56	₹ 3,602.78
67.02	40mm Dia Gate Valve	No.	3	556.09	₹1,668.26
67.03			5	474.03	₹ 2,370.16
57.04	20mm Dia Gate Valve	No.	5	474.05	
68	Providing fixing of approved brand ISI mark gun metal regulating valves including all carriage of work site complete 200 mm Sluice Valve	No.	3	32411.21	₹ 97,233.62
		No.	4	20698.47	₹ 82,793.87
	150mm Sluice Valve	No.	4	13460.19	₹ 53,840.76
68.02 69	100mm Sluice Valve Construction of surface boxes for regulating valves ,and out of angle iron fram 40x40x6mm and 5mm thick MS sheet and al locking arrangments complete job including fixing in cement	No	9	7157.50	₹ 64,417.50
70	concrete 1:2:4 mix P/F of 15mm dia Bibcock of approved brand plastic heavy duty including all pipe specials complete	No.	75	383.44	₹ 28,757.81
71	Providing and fixing G.L chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineer-incharge. Made of G.L wire o dia 4 mm	Sqm	182	750.00	₹ 1,36,500.68
72	Complete rewinding of 7.5 HP, 3HP, 2Hp and 1HP three phase horizentol type motors by way of using insulated copper wire of stable wire gauge and qulaity after extraction of damaged wiring andd testing of motors at site incl. all carriages upto work shop and back.	i Job	5	15337.50	₹ 76,687.50
73	Supply instaling testing and commissiong of three phase do digital starters of required specification as per power rating of motors		5	8180.00	₹ 40,900.00





Retrofitting of WSS Druroo Pandithpora by way of laying Raw Water Main, Supply Main, Sub main & distribution system at various spots including Construction of chain link fencing around various structures construction of fluice Chamber revapming of SSFP, Constriuction of Saddle Blocks/supporting pillars to RWM, repair/renovation to existiong Chowikdar Quarter under JJM

S. No.	Item Description	Units	Quantity	Alloted Rates	Amount
74	Supply of wiring of main circuit with 4 x 16 sqm power circulated 1 x 6 Sqm earthing circuit with FRLS PVC insulated copper wire condutor single core cable in surface/recessed steel conductor as required	R <b>M</b>	100	5930.50	₹ 5,93,050.00
75	Providing installing testing and commissioning 35kv A three phase mannual type with separate rotor incl. transform oil copper wire winding complete	Job	1	69530.00	₹ 69,530.00
76	Carriage of all materials from source to road site of work by mechanical transport including loading, unloading and stacking. Sand for an average lead of 40 kms.	Cum	80.64	614.53	₹ 49,555.92
76.01	Stone aggregate 20 mm for an average lead of 10 Kms	Cum	156.41	287.17	₹ 44,916.12
76.02	Stone aggregate 40 mm for an average lead of 10 Kms	Cum	6.37	312.14	₹ 1.988.32
76.03	Cement/steel for an average lead of 20 Kms	MT	32.29	365.68	₹ 11,807.70
76.04	200 mm dia DI pipes for an average lead of 10 Kms	RM	500	12.76	₹ 6,380.40
76.05	150 mm dia DI pipes for an average lead of 10 Kms	RM	2000	7.66	₹ 15,317.05
76.06	100 mm dia DI pipes for an average lead of 10 Km	RM	4000	3.82	₹ 15,296.60
76.07	GI pipes for an average lead of 10 Km	MT	334.71	255.27	₹ 85,440.46
76.08	Bricks for an average lead of 50 Kms	No.	7568	1.91	₹ 14,470.58
77	Carriage of materials from road site to actual site of work by Manual Labour (head Load) including loading, unloading and stacking for an average lead of 500 mtr. 200 mm dia DI pipes.	RM	500	16.74	₹ 8,369.16
77.01	150 mm dia DI pipes.	RM	2000	11.96	₹ 23,926.50
77.02	100 mm dia DI pipes	RM	4000	7.27	₹ 29.079.90
77.03	GI pipe <b>s</b>	MT	334.71	363.69	₹ 1,21,731.69
	Amount				₹ 1,73,82,513

(Rupees One Crore Seventy Three Lacs Eighty Two Thousands and Five Hundred Thirteen Only)

Head Draftsman

Officer Techni Sup intending Enginee Hydraulic Circle Baramulla/Bandipora H. Q Sopore

Government of Jammu and Kashmir OFFICE OF THE SUPERINTENDING ENGINEER. JAL SHAKTI DEPARTMENT HYDRAULIC CIRCLE DISTRICT BLA/BPR H.Q SOPORE Member Secretary District Jal Jeevan Mission Baramulla/Bandipora

Email:sehydbls@gmall.com

Dated: -3 -11 -2022 Annexure "B" with ORDER No: 05/SE/HYD/SPR/JJM of 2022-23

## **Terms and Conditions**

- The work is executed strictly as per approved design / drawing, specifications and JJM Guidelines. Any deviation or change in proposal/location is subject to the prior approval from 1 the competent authority.
- 2. The Executive Engineer will draw the formal agreement with the contractor within 07 Days from the date of issuance of this allotment order.
- 3. The rates allotted are inclusive of all taxes applicable as per norms amended by competent authorities from time to time. Labour cess and royalties shall have to be borne by the executing agency/contractor.
- 4. The execution of work shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department.
- 5. The executing agency/contractor shall be bound for satisfactory performance of the work for 18 months after the successful Commissioning of subject work and will have to make a trial run of the work for a period of 03 months to the best satisfaction of the department.
- 6. The Defective Liability Period shall be for a period of 12 Months which shall commence after the successful completion of the Trial Run.
- No liability should be created on this account.
- 8. The total cost of work shall in no case exceed beyond of ₹1,73,82,513.00 (Rupees One Crore Seventy Three Lacs Eighty Two Thousands and Five Hundred Thirteen Only).
- 9 In case the contractor fails to execute the work, the work shall be put to fresh tenders on the risk and cost of the contractor & the excess cost if involved shall be recovered from the contractor and strict action as warranted under contractual obligation shall be taken against the defaulter.
- 10. The time of completion of the work is reckoned 90-Days (Ninety Days) as per the condition laid down in the e-NIT.
- 11 The bidder shall furnish a performance security equivalent to 03% of the value of the contract within one week of the issuance of allotment order in the shape of CDR/FDR/Bank Guarantee, valid for a period of 24 Months, which shall be released after successful fulfilment of the laid down conditions in SDB/e-Nit.
- 12 Geo Tagged Photographic evidences of the work; pre-execution, during execution and post execution should be maintained by the agency on his own expenses.
- the work as per the execute agency/contractor must executing 13. The requirements/specifications detailed in the relevant/applicable IS codes.
- 14. The tests for concrete and allied materials shall have to be carried out at reputed institute as per directions of Engineer in-charge and the charges for the same shall have to be borne by the executing agency/contractor.
- 15 All Environmental norms, labour laws and all other guidelines issued by competent authorities shall be followed in letter and spirit
- 16. All other terms & conditions as laid down in the standard bidding document, PWD form-25, GFR-2017 and manual of procurement of works 2019 shall remain in force.

Head Draftsman

cle Baramulla/Bandipora